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Calculating a Correlation Coefficient

1. Find the sum of the x-values. >x

2. Find the sum of the y-values. >y

3. Multiply each x-value by its corresponding Xy
y-value and find the sum.

4. Square each x-value and find the sum. > x?

3. Square each y-value and find the sum. >y’

| n2xy — (2x)(2y)

6. Use these five sums to calcu- r= ; ; ; 3
late the correlation coefficient. \/nEx — (2x) \/”2)’ —(2y)
GDP CO, emissions

(trillions of $), (millions of A o dtm

X metric tons), y Xy x> y? .
16 4282 685.12 256 183.355.24 N=10 &l il
3.6 8288 2983.68 12.96 686.909.44
49 1214.2 5949.58 24.01 1.474.281.64
L1 4446 489.06 121 197.669.16
0.9 264.0 2376 0.81 69.696
29 4153 1204.37 8.41 172.474.00
27 5718 1543.86 7.29 326.955.24
23 4549 1046.27 5.29 206.934.01
16 358.7 573.92 256 128.665.69
L5 573.5 860.25 225 328.902.25
Sx =231 Sy = 5554 Sxy = 1557371 | Sa% =6735 Iy =3,775.842.76

5.573 — (23 5554 . . e
. 10(15.573.71) — (23.1)(5554) T 3 gay oias als Y) el

V10(67.35) — 23.12V10(3.775.842.76) — 5554 . . X
(67:39) = 2 G %) Cndall (40 8 daa ge dald )|
27.439.7
- ’ ~ 0.882. 1
V139.89V6.911,511.6




Hours Exam

Studied Grade x2 y2 Xy
3 86 9 7396 258 r= 0.654157
5 95 25 9025 475
4 92 16 8464 368
4 83 16 6889 332
2 78 4 6084 156
3 82 9 6724 246
7 88 49 7744 616
2 60 4 3600 120
3 75 9 5625 225
33 739 141 61551 2796
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Height of father (inches) | 65 63 67 64 68 62 70 66 68 67 69 71

Height of son (inches) 68 66 68 65 69 66 68 65 71 67 68 70
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Rank of|father [ 4 2 65 3 &5 1 15 85 65 W0 12

Rank of son 5 35 75 15 10 35 75 15 12 5 15 1
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d= -7 -7 7 1 2 5 -25 -1 3 -05
d2= 49 49 49 1 4 25 6.25 1 9 0.25 193.5
7
6% I
Fe=1=
N(N?=1)

Rs= 1-(6* 193.5)/10*(1072 -1)
Rs=-0.1727



